
qm=;+= ljj/0f ljlgof]lht /sd s}kmLot

lzIff tk{m 

1 v/f dfWolds ljBfnodf O–xflh/L,e'FO{ 9nfg, em\ofn 9f]sf dd{t 200,000.00   

2 1fgf]bo cf=lj= 5fgf dd{t 125,000.00    

3 g]=/f= cf= lj=,g]6f lkmN8 dd{t 125,000.00    

4 lhjg ;'wf/ k|f=lj=,9f8vfgL lkmN8 dd{t 60,000.00    

5 lbk]Gb| k|f=lj=,kf]v/f kmlg{r/ lgdf{0f 60,000.00    

6 b]p/fnL k|f=lj=,kf]v/f sIff dd{t 100,000.00   

7 nfnLu'/fF; k|f=lj=,d'n zf}rfno dd{t 60,000.00    

8 hgsNof0f k|f=lj=,kfltxfNgf ejg dd{t 60,000.00    

9 af=;=s]= bxjf;] / 9f8vfgL Ifdtf ljsfz tfnLd 50,000.00    

10 ;fd'bflos l;sfO{ s]Gb|,v/f kmlg{r/ vl/b 60,000.00    

11 ltvfr'nL k|f=lj= lkmN8 lgdf{0f 100,000.00   

12 lhjg ;'wf/ k|f=lj=, 9fF8vfgL df # sf]7] sRrL ejg lgdf{0f 500,000.00   

13 ltvfr'nL k|f=lj= df @ sf]7] kSsL ejg lgdf{0f 1,500,000.00  

14 b]p/fnL ;'Gb/ k|f=lj= sf] # sf]7fdf e'FO{ 9nfg tyf leQf knf:6/ 100,000.00   

15 lbk]Gb| k|f=lj=,kf]v/fdf ! sf]7f e'FO{ 9nfg tyf leQf knf:6/ 40,000.00    

16 1fgf]bo cf=lj=df $ sf]7f e'FO{ 9nfg 80,000.00    

17 g]/f cf=lj=,g]6f df @ sf]7f e'FO{ 9nfg 30,000.00    

:jf:Yo tk{m 

1 :jf=rf}=df kvf{n tyf u]6 lgdf{0f 75,000.00    

2 :jod\;]ljsf e|d0f 80,000.00    

3 k|utL sfo{s|d -kl/jf/ lgof]hg_ Joj:yfkg 50,000.00    

4
;'gf}nf xhf/ lbgsf cfdf tyf lszf]/L x?nfO{ kf]if0f ;DaGwL tfnLd 50,000.00    

5
ue{jtL tyf ;+:yfut ;'Ts]/Lsf] nfuL cGt/s|Lof sfo{s|d–k|Tos 

cfdf;d'xnfO{ 50,000.00    

6 sf=:j=;]= tyf sd{rf/L k|f]T;fxg 5,000.00     

7 jly{ª ;]G6/ Joj:yfkg 40,000.00    

uf}d'vL ufpFkflnsf 

ufFp sfo{kflnsf] sfof{no

cf=j= )&%÷&^ sf] k|:tfljt of]hgf

j8f g+= # -/hj/f_
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;8s tk{m 

1 cUn'Ëk]mbL 9f]/kf6g df]6/ af6f] dd{t 200,000.00   

2 nfldju/–bxjf;]–:ofplnjfª–/f]Nkf df]=af= dd{t 100,000.00   

3 kmfk/s6]/L g]6f 9f8vflg ;lwvs{ df]=af= lgdf{0f 200,000.00   

4 nfldju/–uf}dvL df]=af= dd{t 100,000.00   

5 /hj/f–emfqmL9'Ëf df]=af= dd{t 100,000.00   

6 9fªjfª–emfqmL9'Ëf uf]/]6f] af6f] 50,000.00    

7 yfdsf–emNsLjfª uf]/]6f] af6f] 50,000.00    

8 kf]v/f 9f8vfgL df]=af= dd{t 40,000.00    

9
9fªjfª–l;Gs'jfª–emltsjfª–rfnnf b'O{6f l8xL x'Fb} dh'jf cvf{ hf]8\g] uf]/]6f] 

af6f] lgdf{0f 100,000.00   

10 /fOla;]–g]6f–sfa|faf]6–;wLvs{ df]=af= 894,300.00   

vfg]kfgL tk{m 

1 5ltnLjfª vf=kf=dd{t, kfOk v/Lb tyf 6\ofËL lgdf{0f 50,000.00    

2 1fgf]bo cf=lj= vf=kf= dd{t, kfOk v/Lb tyf 6\ofËL lgdf{0f 50,000.00    

3 ;fpgL vs{ vf=kf= dd{t, kfOk v/Lb tyf OG6]s lgdf{0f 50,000.00    

4 8fF8fyf]s pkNnf] 6f]n vf=kf= lgdf{0f 30,000.00    

5 rKk/vf]nf nfdfkf6f vf=kf= dd{t, kfOk v/Lb 40,000.00    

6 ;lwvs{ 9f8vfgL vf=kf= dd{t, kfOk v/Lb tyf OG6]s lgdf{0f 40,000.00    

7 sfj|fjfª vf=kf= dd{t, kfOk v/Lb 20,000.00    

8 tNnf] wNsLjfª vf=kf= dd{t, kfOk v/Lb 50,000.00    

9 h'u]vf]nf cfufj];L vf=kf= lgdf{0f 50,000.00    

10 tl/jfª vf=kf= lgdf{0f 40,000.00    

11 l;:g]/L t'iff/] bxjf;] dd{t 80,000.00    

nlIft ju{

1 hghftL tk{m –

s= eflifs tfnLd 200,000.00   

v= cn}rL lj?jf ljt/0f 70,000.00    

2 jfnjflnsf tk{m –

;a} ( j6f ljBfnosf] g;{/L sIff Joj:yfkg 135,000.00    

3 h]i7 gfu/Ls –

;Ddfg sfo{qmd 45,000.00    
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4 dlxnf –

s= ;fljs j8fsf dlxnfx?nfO{ l;kd'ns tflnd ;fy} g]t[Tj ljsf; tflnd

90,000.00    

v= n3' pBd vf]nfsf]6 ;fdfg vl/b 45,000.00    

5 ckfË tk{m –

ckfË d}qL ;fdfu|L ljt/0f tyf ckfª\u :jf:Yo ljdf 90,000.00    

6 n3' pBd –

sk8fsf] l8hfOg tflnd 90,000.00    

7 blnt –

s= k~r] afhf vl/b 90,000.00    

v= cf/g ;'wf/ ;fdfu|L vl/b 45,000.00    

v]ns'b tk{m 

1
ltvfr'nL o'jf Snjsf] sfof{no Joj:yfkg-kmlg{r/ tyf ;fdfg vl/b_ 50,000.00    

2 ljhof bzld d]nf tyf v]ns'b sfo{qmd 200,000.00   

3
e'd] k'hf sfo{qmdsf nflu v]ns'b kf]zfs vl/b, v]ns'b ;fdfu|L vl/b tyf 

v]ns'b k|ltof]uLtf ;~rfng 70,000.00    

4 tLh lut k|ltof]uLtf 30,000.00    

s[lif tk{m

1 k|To]s ;fljs j8fdf s[lif ;DaGwL cled'vLs/0f sfo{qmd 75,000.00    

kz' tk{m

1 cf}ifwL vl/b 35,000.00    

ljB't tk{m 

1 v/f vf]nf n=h=lj= dd{t 250,000.00   

2 ltvfr'nL vf]nf n=h=lj= dd{t 175,000.00    

3 l;?ªvf]nf vf]nf n=h=lj= dd{t 125,000.00    

jg tk{m

1 xf]l8Ë jf]8{ lgdf{0f 50,000.00    

wfld{s tyf ko{6g If]q tk{m – 
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1 j[If /f]kg 50,000.00    

2 7'nf] gfªuL cjnf]sg cWoog e|d0f 25,000.00    

3 /fgLtfn Joj:yfkg 25,000.00    

4 /fgLjgbxdf jgef]h :yn tyf k|ltIffno lgdf{0f 500,000.00   

e'MIfo tyf gbL lgoGq0f

1 lhjg ;'wf/ k|f=lj=, 9fF8vfgL e"MIfo lgoGq0f 200,000.00   

2 nfnLuF'/f; k|f=lj= e"MIfo lgoGq0f 200,000.00   

3 v/f df=lj= e"MIfo lgoGq0f 100,000.00   

;/;kmfO{{ ;DaGwL cled'vLs/0f sfo{qmd 150,000.00   
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